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I'he candidate has to answer 150 guestions in
all. Each question carries 1 mark.

Answer the questions in OMR answer sheet
only.

Read the instructions given in MR
answer sheet carefully before answering,

There are four alternative choices against each
question, Select the correct and most
appropriate cheoice and mark it with
blue/black hall point pen in the right bubble of
the OMR answer sheet in such a way that ink
does not spread out of the bubhble,
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According to Piaget during which stage

children develop the ability to perform

operations on mental representation,

making them capable of conservation -

(A) Formal operations

(B) Concrete operations

({C) Sensori-motor

(D)} Pre-operational

Which of the following statements are

correct in reference to learning disabled

children -

(i) They have disorders of attention.

(i} They have good motor coordination
and manual dexterity.

(i} They fail to understand and
follow oral directions.

(A} (1) and (i) .

(B} (i) and (1)

(C) (i) and (i)

(D) only (i)

Colours of a rainbow are remembered

as VIBGYOR. Which technique of

enhancing memaory is this -

(A} The keyword method

(B) The method of Loci

{C) Chunking

(D) First Letter Technique

The global capacity to understand the

world, think rationally and use

available resources effectively when

faced with challenges is -

{A) Aptitude

(B} [Interest

(C) Intelligence

(D} Personality

P.T.O.
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XIX-2
in which psychological technique a
systematic organised and objective
record of employing hehavioural
gccuring naturally in real time Is
prepared-
(A) Observation
(R} Self-report
(C) Case study
(D) Interview

In which type of learning process
generally 2 subject is passive -

(A) Classical Conditioning

(B) Operant Conditioning

(C) Cognitive Learning

(0 Instrumental Conditioning

Which type of memory is also called as
‘inactive memory’.

(A) Sensory memory

(B} Short term memary

{(C) Longterm memory

(D} Storage

Need for achievement is & -
(A) Inborm motive

(B) Biological motive

(C) Acquired motive

(D) Safety motive

which of the following staternent is true
in the context of short term memary-
1. Its storage capacity is limited

3. [ts storage capacity Is unlimited.
3. Irs maximum duration is 20 to 30

saconds.
(A) Only 1 B) 1 and 2
(C) 1.2, 3 (D) 1and3
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If a student doesn't want to study as
well as he doesn't want to be
unsuccessful in examination, then in this
situation he Is facing which type of
conflict -
(A) Approach - Approach conflict
{B) Avoidance - Avoidance conflict
{C) Approach-Avoidance conflict
{D) Multiple-Approach avoidance

What is the correct sequence of the

given four stages of creative thinking -

(A) Preparation - Verification -
[llumination - Incubation

(B) Incubation
Verification - Preparation

(C) Preparation - Incubation -
Verification - Illumination

(D) Preparation - Incubation -
Illumination - Verification

- Illumination -

In this type of reasoning a person tries
to reach at specific conclusion on the
basis of predetermined facts and rules-
(A) Inductive

(B) Deductive

(C) Evaluative

(D) Analogical

The sequence of important steps of

reasoning are-

(i} Recognition of problem

(i) To do experiment according to
inference

(i) Collection of data

(iv] Drawing inferences

(v) Decision making

(A) (i) (i) i) (iv) (v)

(B) (1) (i) () (i) (v)

(C) ) (i C(v) (v) (i)

O} (v Gii) (iv) Gi) (i)

P.T.O.



14, wfiEm dieE ameaao: Hiee e S

15.

16.

17.

3

(i) =& WD

(i) EETER

(i) UF: WE HE

(iv) el @ e
(a) (i) 3 (i)

(B) (i), (i), Cili), (iv}
(Cy (i), (Y, (iv)

(D) (i), (1), (it}

Frefibdl me s iR A
¥ o gty o et @1 T A
SR A o & wmteE-d
(a) i, i

(B) GRwdfiE, W

(C) W, Wi

(D) e, W

FERIHE AT @ 59 que! o serar ol

HE 2 - '

(1) AN S O T S e
affr oim |1

(2) W & whafiEst & e el
HaAN & W S

(31 ey nfafefird @ ot 3 ame @
UHe AR B B

(A) (1), (2], (3)

By {2) 3k (3)

(c) (1) 3 (2)

(D) & (2)

Fromer & STiE & qvaw foEE ST
B & wd Fed) & I B PEd @ -
(A) W FEE i

(B) oEXE

(C) 3oy

(D) &R

SET-A

14.

1%

16.

17.

XIX-2
verbal skille are generally acquired
through -

(i} ~memorising

(i) repeating

(i} recalling

(iv} recognising things
(A) (i) and (ii)

{B) (i), i), (i), (iv)
(C) (i, (i), (iv)

(D) (i), (i), (i)

Girs in middle childhood attach more
importance to good ____relations and
the family while boys may emphasize
the importance of social_
(A) Interpersonal, prestige
(B} Interpersonal, language
(C) Language, skil

() Skill, language

The ways by which we can enhance

positive emotions are -

(1} Do relaxation exercises such as
meditation and yoga

(2) Find happiness and satisfaction in
daily life activities.

{3) Undertake activities which you do
not like doing.

(A) (1), (2), (3)

(B} (2)and (3)

(C) (1)and (2)

(D) Only (Z)

The proportion of children who
discontinue school after enrolling in the
schooling system Is -

{A)} Dropout rate

(B) Stagnation

(C) Wastage

(D) Retention
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Snellen chart is related to -
(A) Visual impairment
(B) Hearing impairment
(C) Learning Disability
{0} Physical Disability

“In teaching children with special needs
multlsensory approach should be used."
Multisensory approach means -

(A) Visual, auditory, smell, touch

(B) Visual, auditory, westibular,
cutaneous

(C} Cutaneous, visual, touch,
vestibular

(D) Auditory, touch, cutaneous,
vestibular

The draft of National Education Policy
2019 recommends which of the
following-

(A} The curriculum and pedagogy
move towards understanding and
learning how to learm and away
from the culture of rote leaming.

(B) To develop important skills,
knowledge and values for 19th
century.

(C) Students should be taught in
rmother tongue in higher secondary
classes,

(D) Assessment should help in leaming
and development and should
emphasize on memorization.

Which of the following statement is

true-

{A) Guidance means to instruct
students.

{B) Guidance can be given individually
as well as in 2 group.

{C) Counselling can be given
collectively only.

(D) Guidance Is given to weak

students.
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When examinations are near, teacher
should -
(A) Call students at home to complete
the coursa.
(B) Tell students to complete the
course themselves.

" (C) Give extratime in school to

complete the course.
(D) Solve few selected guestions.

Feeling of co-operation can be developed
in the students through-

(A) Lecture on co-operation

(B) Groupwork

(C) Showing pictures on co-operation
(D) Constructive individual work

A teacher should evaluate student's
perforrmance on the basis of which types
of questions-

{A) Objective type

(B) Essay type

{C) Short answer type

(D)} All of the above

As children learn to co-operate they
develop-

(A) Co-operation

(B) Team spirit

(C) Social attitude

(D) All of the above

When a question is answered wrongly

by the student then a teacher should-

(A) Punish the student for giving wrong
answer.

{B) Correct the fault in the answer
and tell the students.

{C) Correct the answer with the help
of the students.

(D) Leave that question and proceed
to the next question.




|

27,

28.

29.

30.

“FiraEr 5 T A e SRl S

(a) wof & a9 de © o e &
et & Fmiom|

(B) waEEm & A RoEn o a=i
G il

(c) fomers @ Feoraiinm o deiftE
T d T A E neE o 2l

(D) HrE & 3R © S A HEE S

gt & Fremor-wiftem st smwem A

wrnfrE @ & -

(i) @l & faRl @ =@

(iy & sies & sgvE

(i) FENE FWEE B A B BT
Feiie

(A) (i) (i) Ciii)

(B) (i) # (i)

(C) (i) 3k ()

(D) @& (i)

qof 0 3 A T @ Fie e
o SIREn B 3 W &
(A} s e sk o s e

(B) wifEs e sk o awE T

(cy wifas o 3R ang e T
(D) e difes fEEwor g

T amETaeaT A g W FoeE B

wrr s @ -

(A) @i & dra geFT Rl el

(B) @i @t v, gfea ke dae
& Tee|

(C) #HWE- Wt tien &0 mige =
f& Fl wI

(D) WTaTES AT 3 I T

SET-A

27.

28,

29,

30.
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"Assessment as Learning” helps in -
{A) Bullding skills of learning to learm
among children.
{B) Reporting without labelling or
comparing children.
(C) Helps teacher to review and
modify the teaching learning.
(D) Helps to address learning gaps.

Teaching - learning and assessment

strategies of children include -

(iy exploring children's ideas

(i) daily life experiences

(i) worksheets to assess the
existing understanding

(A) (i) (W) (i)

(B) (i) and (iii)

(C) (1) and (iii}

(D) enly (i)

Geometrical Ideas can be explained to

totally blind chiidren by -

{A) Verbal description and concrete
expariences.

(B) MNon verbal descriptions and
concrebe experiences.

{C) WVerbal descriptions and abstract
experiences,

(D) Only verbal descriptions.

While assessing the children with
special need a teacher should -
(A) make comparisions between
children.
(B) labelling learners as slow, poor,
intelligent etc.
{C} focus on learning not on marks.
(D) practising weekly test.
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XIX-2

Direction (Q. No. 21 to 34) ; Read the
passage given below and answer the
questions that follow by selecting the most
appropriate option.

When we are suddenly confronted with
any terrible danger, the change of nature we
undergo is equally great. In some cases fear
paralyses us. Like animals, we stand still,
powerless to move a step in fright or to lift a
hand in defence of our lives, and sometimes
we are seized with panic, and again, act more
like the inferior animals than rational beings.
On the other hand, frequently in cases of
sudden extreme peril, which cannot be
escaped by flight, and must be instantly
faced, even the most timid men at once as if
by miracle, become possessed of the
necessary courage, sharp quick apprehension
and swift decision. This is a miracle very
common in nature. Man and the inferior
animals alike, when confronted with almost
certain death 'gather resolution from despair’
but there can really be no trace of so
debilitating a feeling in the person fighting,
or prepared to fight for dear life. At such
times the mind is clearer than it has ewver
been; the nerves are stegl, there is nothing
felt but a wonderful strength and daring.
Looking back at certain perilous moments in
my own life, T remember them with a kind of
oy, not that there was any joyful excitement
then; but because they brought me a new
gxperience - a new nature, as it were - and
lifted me for a time above myself.

31. The maost appropriate title for the above
passage would be ;

(A) The will to fight
(B) The miracle of confronting
danger
(C) The change of nature
(D) Courage and panic
SET-A

32. The author names three different ways
in which a man may react to sudden
danger. What are they?

{A) He may flee in panic, or fight back
or stand still.

(B} He may be paralysed with fear;
seized with panic or act like an
inferior animal.

{C) He may be paralysed with fear, or
cseized with panic, or as if by
miracle, become possessed of the
necessary courage, and face the
danger.

(D) He may be paralysed with fear,
run away or fight.

33. The distinction between 'inferior
animals' and ‘rational beings' is that :

{A) The former are incapable of
flghting.

{B) The latter are cever.

(C) The |latter are stronger.

(D) The latter are capable of reasoning
things out whereas the former
cannot do so.

34. Explain the phrase "gather resolution
from danger :

(A} Find hope and courage

{B) A state of utter hopelessness
steels one to fight out the
danger

(C) Mot to lose hope, but fight

(D) Find courage to face the danger

Direction (Q. No. 35 to 38) : Read the poem
given below and answer the questions that
follow by selecting the most appropriate
option.

Far far from gusty waves these children's faces.

Like rooctless weeds, the hair torn

around their pallor.
The tail girl with her weighed-down head.
The paper seeming boy, with rats eyes,

P.T.O.
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The stunted, unlucky heir
of twisted bones, reciting a father's
gnarled diseasa,
His lesson from his desk. At back of the
dim class
One unnoted, sweet and young. His eyes
live in a dream.
Of squirrel's game, in the tree room, other
than this.
35. "Squirrel's game in the tree rocom”
suggests :
{A) Squirrel's game in the room of a
house near the tree
{B) Squirrel's game in the empty space
or hollow part of the tree trunk
fC) Squirrel's game in a8 room made
on the top of a tree
(0} Squirrel's game in a house made
of tree wood

36. The paper seeming boy with rat's eyes
means the boy is :

(A) sly and secretive

(B) thin, hungry and weak
(C) unpleasant looking

(D) as thin as a rat

37. The stunted, unlucky heir of twisted
bones means - The boy @
{A) has an inherited ability
(B) was short and bony
{C) has an inherited disability
(D) is insecure
38. 'His eyes live in a dream of sguirrel's
game, in the tree room other than this'
- means that the boy is :
(A} Ffull of hope in the future
(B) mentally il
{C) asleep
(D) distracted from the lesson
39. The receptive skills in any language are:
(A) listening and writing
(B) reading and writing
(C) listening and reading
(D} listening and speaking

SET-A [14]
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Language acquisition occurs when :

(A) the child is taught the rules of
grammar.

(B) the child is given a reward

(C) the child has exposure to the
language

(DY the child absorbs the language
without conscious attention

Which of the following is measured by

continuous comprehensive evaluation?

(A)  Development of creativity

(B} Development of experience

{C) Holistic development

(D} Development of divergent
thinking

The study of words and their meaning

is known as :

(A) Semantics

(B) Linguistics

(C)} Phonetics

(D} Syntax

The word ‘artificiality’ has :

{A) Five syllables

(B} Foursyllables

{C) Seven syllables

{D) Six syllables

Grammar transiation method does not :

(A) Encourage learning through mother

tongue

(B} Glveimportance togrammar

(C) Enhance a student's
communicative skill

{D} Enable a student to use the
language fluently

One of the principles of materials

preparation for lenguage leaming is that :

(A} Simple material should be chosen

(B) Grading of material should be done

(C) Any kind of material can be
chosen

(D} Asmall amount of material should
be introduced



Direction {Q.No. 46) Find out the part that
has error in the sentence given balow.

46. Several prominent figures / involved in

A)
the scandal /{are required to appaar/ to
(E) (<)
the investigation committee

Direction [Q.H:Eﬂ} Reorder the following

words and phrases to make a meaningful

sentence and select the most appropriate

option.

47. We/saying or writing/avoid/anything/
give offence to them/that would/must:

(A} We must give offence to them that
would avoid anything saying or
writing.

(B) We must avoid anything saying or
writing that would give offence to
them.

(C) We must avoid saying or writing
anything that would give offence
to them.

(D} We would avoid saying or writing
anything that must give offence
to them.

Direction (Q. No. 48) : In the following

guestion select the most suitable option for

the direct narration.

48, The speaker said that it gave him great
pleasure to be there that evening.

(A) The speakersaid, "It give me great
pleasure to be here this evening”.

(B) The speaker said, "It gave me
great pleasure to be here this
evening",

(C) The speaker said, "It gives me
great pleasure to be hare this
evening”.

(D) The speaker said, "It gives me
great pleasure to be here that
evening.”

SET-A
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Direction {Q. No. 49) : In the following
question choose the appropriate passive
voice from the given options.
49, Circumstances will oblige me to go .

(A) I shall be oblige to go.

{B) Ishall be obliged to go.

(<)

(D)

I will oblige circumstances to go.
Circumstances will be obliged by
me to go.

Direction (Q. No. 50) : In the following
question choose the appropriate active voice
from the given options.

E0. Promises should be kept.
(A) Oneshould keep one's promise.
(B} We should keep our promise,
(C) All should keep their promises.
(D) One should keep one's promises.
Direction {Q. No. 51) : Change the degree -
of the underlined adjective into positive
degree without changing the meaning of the
sentence and select the appropriate option
for that :
51. The Taj is the most beautiful building
that 1 have ever seen :
(A) The Taj is a beautiful building that

I have ever seen.

(B} The Taj is more beautiful than any
other building that I have ever
seern.

(C) Mo other bullding is more beautiful
than Taj, that I have ever seen,

(D) [ have never seen so beautiful a
building as the Taj.

P'T' n .




Direction (Q.Mo. 52) : Choose the most
suitable alternative in accordance with the
correct use of the tense and grammar.

52. (A) Of all men I know none is less
inclined then he is to believe ill of
others.
All of men 1 know none s (@55
inclined than he is to believe Ill of
others.
of all men 1 knew none is less
inclined than he is to believe ill of
others.
oOf all men 1 know none Is less
inclined than he is to believe Il of
others.
Direction (Q. No. 53) : Transform the
following sentence into negative without
changing its meaning and select the most
suitable option for that |
53. 1 was doubtful whether it was you.
(A) Iwas notsure whether it was you.
(B) I was not sure whether it were
you.
(C) I was not sure that it were you.
(D) I was not sure that it was you.
Direction (Q. No. 54) : In the following
sentence omit 'too' without changing its
meaning and select the most appropriate
option for that :
54, The work is too much for any man to
do single - handed.

(B)

(C)

(D)

(A} The work is so much no man can
do it single - handed.

(B) The work is so much that no man
can do it single - handed.

(C) The work is so much that any man
can not do it single - handed.

(D) The work is 50 much that It can
be done by any man single -
handed.

SET-A
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Direction (Q. No. 55) : Select the maost
suitable conjunction and fill in the blanks.
55 No nation can be perfectly well

governed it is competent to
govern itself .

(&) before (B) since

{C) il (D) after

Direction (Q. No. 56) : Fill in the blanks
with sultable prepositions.

55. In his work Charak often hints ____the
value of sweet oil.
(A) for (B) of
(C) at (D) with
Direction (Q. No. 57) : Choose the word
nearest in meaning to underlined part.
57. Indian economy has always shown
enough rasilience in crisis .
(A) diversity
(B) strength
{C) elasticity
(D) adjustment
Direction (Q. No. 58) : In the following
sentences choose the word opposite in
meaning to the underlined words.

58. 1 would advise you to pacify your
father and not _____ him by arguing.
(A} insult
(B) offend
(C) injure

(D) aggravate
Direction (Q. No. 59) : Choose the most
suitable option that describes the meaning
af the following idiom/phrase.

50, He works by fits and starts.

(&) consistently

(B) irregularly

(C) in high spirits

(D) enthusiastically
Direction (Q. No. 60) : Fill in the blank with
appropriate auxiliary verb (primary/modal).

60. You _light a match; the room is
full of gas.
(A} needn't (B) won't
(C) must (D) Mustn't
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second Language — English

XIX-2

Direction (61 to 64) : Read the passage
given below and answer the questions that
follow by selecting the most appropriate
option

The wark which Gandhiji had taken up
was not only the achievement of political
freedom but also the establishment of a
social order based on truth, nen-violence,
unity and peace, equality and universal
brotherhood and maximum freedom for all.
This unfinished part of his expariment was
perhaps even more difficult to achieve than
the achievement of palitical freedom. In the
political struggle, the fight was against a

foreign power and all one could do, was
gither join it or wish It success and give it
his or her moral support. In establishing the
soclal order of his pattern there was a llkely
possibility of a conflict arising between groups
and classes of our own people. Expenence
shows that man values his possassions even
more than his life because in the former ha
sees the means of perpetuation and survival
of his descendants even after his body Is
reduced to ashes. A new order can not be
established without radically changing the
mind and attitude of men towards property
and at some stage or the other, the ‘haves’,
have to yield place to the 'have nots'. We
have seen In our time, attempts to achieve
a kind of egalitarian soclety and the picture
of it after it was achieved. But this was done
by and large, through the use of physical
force.

The root cause of class conflict is
possessiveness or the acquisitive instinct.
So long as the ideal that is to be achieved Is
ane of securing maximum material satisfaction,
possessiveness Is neither suppressed nor

SET-A

eliminated but grows on what it feeds. Nor
does it cease to be such-it is possessiveness,
still, whether it is confined to only a few or
is shared by many.

If egalitarianism is to endure it has to
be based not on the possession of the
maximum material goods by few or by all but
on voluntary, enlightened renunciation of
those goods, which can not be shared by
others or can be enjoyed only at the
expense of others. This calls for substitution
of spiritual.

61. Apart from the political freedom for his
country, Gandhiji wanted :

(A) a lot of wealth

{B) a big army

{C} economic freedom
(D) universal brotherhood

62. Man gives more importance to his
possessions because through them he
hopes to get :

(A} a chance to enjoy
(B) the welfare of his posterity
(C} a new social order
(D) perpetuation of his life
63. Man's acquisitive instinct has given rise
to !
(A) class conflicts
(B) an egalitarian society
{(C) political freedom
(D) maximum material satlsfaction
64. Find which phrase or word in the
following means "a social system in
which everyone has equal status and
the same money and opportunities” ;
{A) order of his pattern
(8} universal brotherhood
(C) egalitarian society
(D) acquisitive instinct
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Which one of the following is not a
measure of central tendency -

{A) Mean

(B Median

{C) Made

{D) Range

Project method was propounded by-
{A) H.E. Armstrong

{B) W.H, Kilpatrik

{C) David Hume

(D} A. W. Young

The most useful teaching aid In
Mathematics is—

{(A) Visual aid

(B} Audio aid

(C) Audio visual aid

(D) None of these

Teacher conducted an oral assessment
in class and found that Ram can speak
definition of all types of numbers-odd,
even, prime and composite accurately,
but not able to identify the numbers
accurately when given a set of
numbers. Teacher reports that-

{A&) Ram has good memory but lacks

practice.

() Ram has good memory but lacks
concentration.

{C) Ram has good memory but lacks
conceptual understanding..

{0} Ram has good memory but lacks
analytical ability.




S &

109. @& H 7itE & 9w 4 o5 a9k e e

110.

111.

112.

I HE wEEgel e & o wHefen

v man ow oftfafr e & oefea

-

(A) it o T & )

(B) fawtor st wedmo &)

(C) 97 & i & ament st Ry
H|

(D) 37 ¥ w0 afta & @ an
BT a0 1

1 9 40 % & ww s @ o B
(A) 418
(B) 420
(C} 440
(D) 442

de mite ww Wi A, B, C, D 2R Em
sitea 86 21 C 3R E o g

(A) 774D

(B} 7380

(C) 7568

(D) 7224

afé p-q = -8 3R pq=-12, & p*>- q* &
H & o

(A) 224

B) -224

(C) 424

(D) -242

SET-A

XIX-2

109. In the mathematics period a debate on

110,

111.

112,

the topic ‘Zero is the most important
number’ was conducted In the dass.
This activity will encourage the
student-

(A) to help the friends.
(B) tc analyse and communicate.

(C) to write the numbers containing

Zern.

(D) tosolve problems containing zero
at the end.

The sum of even numbers from 1 to 40
is :

(A) 418

(B) 420

(C) 440

(D) 442

The average of five consecutive even
numbers A, B, C, D and E is 86. The
product of Cand E is :

(A) 7740

(B) 7380

(C) 7568

(D) 7224

If p-q = =8 and pg=-12, then the value
of p*- g Is :

(A) 224

(B) -224

(C) 424

(0} -242
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The ratlo of the length to the width of

a rectangle is 4 : 3. Area of the
rectangle is 192 cm®, The perimeter of
the rectangle is :

(A) 56cm

(B) 2Bcm

(C) 46cm

(D) 36cm

Three numbers are in the ratio of
3 : 4: 5 and their L.C.M. is 2400. Their
H.C.F.1s :

(A) 40

(B} 80

(C)- 120

(D} 200

If a fraction's denominator is decreased
by 80% and numerator is increased by
3009%, the fraction becomes 2/9. What
is the fraction?

(A) 89

(B) 16/45

(C) 1/50

(D) 1745

If the length and breadth of a
rectangular field are increased, the area
increases by 50%. If the increase in
the length was 2086, by what percentage
was the breadth increased?

(A) 30

(B) 25

(C) 20

(D} None of these
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If % +—5 =83, then one of the value
X

3 1
e :
af KH is :

675

576
657

756

(A)
(E)
(C)

(&)

With the help of a ruler and a compass
It Is not possible to construct an angle
of :
(A)
(B)
(C)

37.50
39.5°
22 59
67.50

Higher Order Thinking Skills (HOTS)
based questions demands the :

(A) Knowledge of facts, rules,
formulae

Knowledge of algorithm
Knowledge of symbols and

diagrams
Knowledge and cognitive efforts

(E)
(C)

(E)

According to NCF 2005, cne main goal
of mathematics education in school is
b
(A)
(B)
(C)
(D)

Develop numeracy skills
Enhance problem solving skills

Nurture analytical ability
Mathematise the child thought

process

P.T.O.
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 XIX2
Which of the following pollutants is the
major cause of respiratory disease?
(A} Volatile organic compound
(B} Suspended fine particies
{C) Nitrogen Oxides
{D) Carbon Monoxide

Under which of the following conditions

will the process of evaporation be

slowest?

(A) Surface area increase but
temperature decreases,

(B) Surface area decreases but
temperature increases.

(C) Both surface area and temperature
decreases,

(C) Both surface area and temperature
increases,

Pick the correct statement :

(1} Al metals are ductile

(i) Al non-metals are ductile

(i} Generally meatals are ductile

{iv)

(A) Statement (i} is true but (ii), (iii)
& (iv) are false.

(B} Statement (ii) is true but (i), (iii)
& (lv) are false,

{C) Statement (iii) is true but {1, (1)
& (iv) are false.

(D) Staternent (iv) Is true but (1), (I
& (iii) are false,

Some non-metals are ductile

P.T.O.
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XIX-2

Mumber of ribs in human is -

{A) 10 Pairs
(B)
(C)

(D)

12 Pairs
14 Pairs
16 Pairs

Who synthesize the first artificial gene-
(A} Mendal

(B) Watson and Crick

(<)
(D)

Morgan
Har Govind Khorana

The stored food material in Fungi is -
(A)
(E)
(€}
(D)

Glycogen
Starch
Sucrose

Glucose

Which of the following is free living
nitrogen fixing bacteria -

(A)
(B)
(C)
()

Mitrosamonas
Rhizobium
Azotobacter

Bacillus

The edible part of Litchi fruit is -
{A) Mesocarp
(B} Endocarp

(C) Epicarp
(D) Al
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XIX -2
Emergency gland of the body Is -
(A)
(B)
(<)
(D)

Thymus
Testls
Adrenal

Pituitary

Agar-Agar is obtained fram - '
(A) Red algae
(E)
(<

(o)

Green algae

Brown algae

Blue green algae

Chlorophyll contains -

(A) Beryllium
(B} Cakcium

(C) Magresium

(D) Strontium I

A ball of dough is rolled into a flat
chapatti. Name the force exerted to !
change the shape of the dough-
(A) Centripetal force
(B)
(C)

(D)

Centrifugal force
Elastic force

Muscular force

P.T.O.
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XIX-2
We can see a non-luminous object when
light-
(A} emitted by the object falls on the

eye,

(B} is reflected from the object
towards our eye,
(C) completely passes through the
object.
{D) gets completely absorbed by the

object,

Earthquake produces which kind of
sound before the main shock wave
begins 7

(A) ultrasound

{B)
{C) audible sound

infrasound

(D} none of the above

The loudness of sound is determined
by the -

(A} amplitude of vibration

(B) ratio of c;-mplﬁtu-de and frequency
of vibration

{C)

(D)

frequency of vibration
product of amplitude and

frequency of vibration
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141. Slope of a velocity-time graph gives-
(A} the distance
(B} the displacement
{C) the acceleration
(D) the speed
142. Two objects of different masses
falling freely near the surface of moon
would-
(A} have same velocities at any
instant
(B} have different accelerations
(C) experience forces of same
magnitude
(D) undergo a change in their inertia
143. Which of the following metals is used in
electroplating to make objects
appear shining-
(A) Iron
(B) Copper
(C)} Chromium
(D) Aluminium
144, Which of the following represents
voltage-
Work done
(A) Current = Time
(B) Work done = Charge
() Wcrkcdu:n:ﬂme
(D) Work done x Charge x Time
[45] P.T.O.
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149,

150.

XIX-2
Which cne of the following is the most
suited to the development of scientific
skills in students?
(A) Performing laboratory work
(B) Conducting science quiz
(C) Organizing a field visit
(D} Conducting science Olympiads

One of the main limitations of the project
method of teaching science is that -
(A)

Integration of concepts in

varlous subjects can be achieved

(B) The students have to perform
excessive mental and physical
work

(C) Itis a psychological method

(D) Knowledge is not acquired in a

sequential manner

A sclence teacher is interested to

focus more on acquisition of process

skills by the learners. Which of the

following combination of the methods

of teaching should be preferred by her

to achieve the objectivas-

(A) Lecture cum-demonstration
method

{B) Assignment cum-questioning
method

(C) Lecture cum-discussion method

(D} Project-cum laboratory method

P.T.O,
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95.

b

XIX-2
The Legislative council can delay the
enactment of a bill passed by the
Legislative Assembly for a maximum
period of :
(A)
(B)
()
(D)

One month
Four months
Six months

One year

The disputes regarding the election of
the President of India are decided by :
(A) The Parliament

(B) The Supreme Court of India

{C} The Lok Sabha

(D)} The Election Commission

A persen who is not a member of the
Parliament can be appointed a member
of the council of Ministers but he must
acquire the membership of either house
within a period of :

(A)
(B)
(C)
(D)

Three months
Six months
Mine months
Twelve months

Which ane of the following Articles of
the Indian Constitution deals with the
impeachment process against the
President of India?

{(A) Article 59

(B) Article 60

(C) Article 61

(D} All the above Articles

P.T.O.




100.

101.

102.

103,

WA & Wl G e | e s
YA R & "l @ ween R

e 27

(A) 01

(B) 02

(C) 03

(D) 05

A e S SR @ s
o= = @

(A) TEad & seae

(B) IwEEl

(C) wer=El

(D) gk

ArEr i @ SAe T S
#l

(A) TTE A
(B} =rEEmH

(C) demaat &
(D) M &

WA i dted —araeg # e
WY B B ag] Fdar B7

(A) el
(B) Werm=wHT
(C) ¥HZ

(D) &0 & @ @l

wery famer &t s @ avemer @ 47
(A) ardt. gueEm

(B) @ WA SEEE

(C) wimm. fe

(D) oo Rt

SET-A

100.

101.

102.

103.

XIX-2
How many members of Anglo-Indian
community is nominated by the
President of India for Lok Sabha?
(A} 01
(B) 02
{C} 03
(D) 05

Who can preside the joint sitting of
Indian Parliament?

(A) Speakerof Lok Sabha

(B) Vice President

(C) Primea Minister

{D) President

Tenth Schedule of Indian Constitution
is assoclated with :

(A} Election

{B) Defection

{C} Panchayats

{D} Languages

Who can add more judges in the
Supreme Court of India?

(A} President

(BY Prime Minister

(C) Parliament

(D} Mone of the above

Who was the chairman of first
Backward Class Commission?

(A} B. P Mandal

(B} Kaka Saheb Kalelkar

{C) M. M. Singh

(D) L. M. Singhvi
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XIX-2

In which year the Naticnal Policy on

Wormen Empowerment was declared by
the Government of India?

(A) 1999
(B)
{C)

(0}

2000
2001
2005

How many seats are reserved for the
Scheduled Caste Candidates in the
Legislative Assembly of Uttarakhand?

(A)
(B)
{<)
(D)

09
11
13
15

Which of the following committees is
not associated with electoral reforms?
(A}
(B)

(<)
(D)

Tarkunde Committee
Sarkaria Committee
Inderjit Gupta Committee

Dinesh Goswam| Committee

Which one of the following is not a
peasants movements in India ;

(A)
(B)
{C) Shetkari Movement

Kheda movement
Namdhari Andolan

(D) Bhartiya Kisan Union
P.T.O.
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XIX-2
Who among the follewing was the
founder of Vaishesika system of
Philosophy -
(A)
(B)
(Ch
()

Jaimini
Eanad

Gautam

Vyasa

Which one among the following
Harappan towns was almost exclusively
devoted to craft production:

{A)} Ropar

(B) Surkotada

(C)
(L)

Chanhudars

Rakhigarhi

Which one of the following was the
capital of Mahajanapada Surasena.

(A)
B)
(<)
(=)

Kosala
kKanchi
Mathura

Wjayani

Which one of the following places, we
find a major Rock edict of Asoka:

(A)
(B)
(<)
(D)

Sopara
Mask!
Brahmagiri

Saranath




112,

113.

114,

115.

e

Feifsn o @ fsw mm # ure o adm
w9 3 # AR

(A) wem w8 o @

(B) Rdta wdt dw of

(C) v wdt e of

(D) aged et g o

Fifisa wet # 4 2 e = F 1w
# F mw &

(A) ST wEIE foedt

(B) 93 T frsd

(C) FomEds aitfemn

(D) afiEmR =

Frifiss # @ @ gre o & vefg o,
Foa-o-wie @ e &

(A) g W

(B) W TSI

(C) Frfewr qwm

(D) Ffafdm geg

Fraiftss & & ot v a b, s
-

(A) i ¥ 5 v wa e
(B) & Fanit & e v e ™ 2
(C) enifs Famaft & B oo s o2 2

(0) = Faned & o oo 2 w0 am

SET-A

112.

113,

114.

115,

XIX-2
In which of the following periods first
stupas in India came into baing:
(A) First century B.C.
(B Second century B.C.
(C}) Third century B.C.
(D} Fourth century B.C.

Who of the following Saints was known
as "Gharib Nawaz':

{A) Khwaja Muinuddin Chisti

(B) Shaik Salim Chisti

(C)  Nizamuddin Auliva

(D} Bakhatiyar Kaki

Which among the following was the
meaning of the term, 'lins-i-kamil’
during Mughal period :

(A) Soiled crops

(B) Perfect crops

(€} Educated men

(B} Uneducated men

Which of the following were, ‘Bandagan’

during Sultanate Period:

(A) Slaves purchased for domestic
service

(B) Slaves purchased for agriculture
service

(C) Slaves purchased for religious
service

(D) Slaves purchased for military
service

P.T.O.
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XIX-2
In which of the following years, tha
Khurda uprising took place :
(A) 1816
(B) 1817
(C) 1818
(D) 1819

In which of the following years, the first
cotton mill in India set up as a spinning
mill came into being:

(A) 1852

(B) 1853

(C) 1854

{D} 1856

Who of the following published a book,
'Stripurushtulna':

(A} Tarabai Shinde

(B) Pandita Ramabai

(C} Rokeya Sakhawat

(D) Rashsundari Debi

Which of the following founded, 'The
self Respect Movement' -

(A}  Ambedkar

(B} Narayan Guru

(C} Jyotiba Phule

(D) Periyar

Port Blair Is located in which one of the
following island?
(A} North Andaman
{B) Middie Andaman
(€) South Andaman
(D) Little Andaman
P.T.D.
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XIX-2
This approach of social studies
curriculum is based upon the maxim
'Known to unknown', ‘Near to far', Easy
te difficult-
(A} Issue Centred Approach
(B) Discipline Centred Approach
(C) Integrated Approach
(D) Inter - Disciplinary Approach

While making of Lesson Plan in sodal
studies these questions are generally
asked before teaching of topic and the
aim of these guestions is to know the
previous knowledge of students.

(A) Natural Questions

(B} Formal Questions

(C) Introductory Questions

(D) Developing Questions

Which technigue of social studies
teaching deals with exploring the

Economic activities, thoughts, habits,

resources and values etc. of group of
people living in a particular place?

(A} Demonstration technigue

(B) Field Trip technigue

(C) Survey technigue

(D) Exhibitien technigue

'Knowledge of Content’ is which type
of gquality of a social studies teacher?
(A) Individual Quality

(B} Professional Quality

(C) Social Quality

(D) Leadership Quality
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XIX-2
Which of the following is a Projective
Aid for the teaching of social sclence-
(A)
(B)
(C)
(D)

Epidiascope
Radic

Chalk Board
Computer

According to the teaching of social
science which of the following is not a
type of Globe?

(A} Physical Globe

(B) Political Globe

{C) Outline Globe

{0) Model Globe

Which of the following statement is
incorract regarding social studies?

(A)
(B)
(<)

It is a part of social science

It is ordinary and simple

It gives stress mainly on the
behavioural aspect.

(D) It is mainly related to theoretical

aspect.

Which of the following is not a merit of
Inter-Disciplinary Approach of social
studies?

{A) Single teacher can handle the
class.

(B) Owverlapping of the content be
reduced.

'School Bag' weight to be reduced.,

It provides basis for specialization

()
(D}
in subject specific.

P.T.O.
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XIX-2

. Duestion Mos. 1 o 30 are related to Child

Development and Pedagogy.

CQuestion Nos. 31 to 60 are related to First
language - Hindi OR English. Candidate has

i select the questions of only ope language as

the First language. Answer the questions of the
language which the candidate has selected as

First language in his'her application form,

Question Nos. 61 to 90 are related to Second
language - Hindi OR English OR Sanskrit OR
Urdu. Answer the questions of only one
language which the candidate has selected as
Second language in hisher application form.
Be careful that the language selected as First
language cannot be taken as Second language.

Question Nos. 91 te 150 are related to
Mathematics and Science OR Social

Studics,
The candidate has o answer the subject
Mathematics and Science OR Social
Studies as selected by the candidate in the
application form.

T
Rough Work can be done in specified space of
the Question Booklet.

Do not waste time in solving the questions. If
you cannot answer a question, proceed to the
next one.

Do not fold or damage the OMR answer sheet
any way.

After examination submit vour OMR answer
gheet to the mvigilator. Candidates are allowed
to take away the carbon copy of OMR answer
sheet and Question Booklet,




82.

83.

"Curse it!" exclaimed the driver, "Who

could have foreseen such ill luck? But

for the accident we should have caught
the train easily”. This can best be
reported as :

(A} The driver said that who could
have foreseen such ill luck. But
for the accident they would catch
the train easily.

(B) The driver exclaimed with an cath
that nobody could have seen such
ill luck. But for the accident they
would have caught the train
easily.

(C) The driver asked that everybody
could have foreseen such an ill
luck. But for the accident we
could catch the train easily.

(D) None of the above

The ward "Untruthfully' has :

(A) two free morphemes and one
bound mumhemé

(B) three free morphemes and two
bound morphemes

(C) ©One free morpheme and three
bound morphemes

(D) Only one free morpheme and one
bound morphemea

'The teacher made the boy run fast'.

In this sentence, 'made' is a :

(A) Principal verb

(B} Modal verb

(C) Causative verb

(D) Auxiliary verb

SET-A
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89.

0.

XIX-2
Choose the word with correct spellings:
(A) remorsefull
(B) remorseful
(C} remorceful
(D)} remorsiful
Intensive reading lays stress on
mastery of :
(AY words
(B) grammar
(C) language
(D) usage
I tald him that he couldn't hope to catch
a big fish a small rod like that, but
he insisted trying.
(A) with, on
(B) by, about
{C) with, about
(D) by, on
Choose the correct option from the
fallowing :
(A) Where did you cut your hair?
(B) Where have you cut your hair?
{C) Where did you have cut your hair?
(D) Where did you have your hair cut?
Pronunciation drills are the excellent
means of forming correct speech :
(A) Sound
(B) Intonation
(C) Skills
(D) Habits
One of the limitations of Language
Laboratory is that it cannot be used to
learn:
(A) writing and speaking
(B) listening and reading
(C)} reading and writing
(D) speaking and listening

FITIﬂI-




v fgeira - wwpa

XIX-2

e« oifriEd e ofden Wew weeEn (W

e

ferfema

B1.

62.

61-64) Frwrure@rny wafuan I fem

o= wRawfEdE e
oo gepal o faAmmm Sawg T,
aNREH F:, G- SRR e W
fira: siaeA] Tdtay| d ae:
e WAY IR OV e
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e et -

(A) ST

(B) v R

(C) FoIY

(D) 9 WA

W g Uk fofes: e SRA
(A) -
(8) fietan-reaa=m
(C) Tepii-veae=m
(D) T=IHI-Uaer
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63.

et g w2 wFfe-
(A) =saE-H:

(B) splerwma-wer:
(C) e-ER

(o) feet-wfan

T g R el e -
(A) W+ +ae+ao

(B) W+TS+TI+T

(C) W+AFd+TC+CTIY

(D) skt =

Prdr : sl el g aanniiE v

(W W 65-68) RmmmeTE ey T I
e frvemr-

65.

66.

fafooo=t o=
e afew 7 ARmieE |
wRefy @ 9 | afteisi 5
B W W gt 11111
TEister AR
AT TR s |
AT g T
winp Fromm gareeeag) |
AFER S
(A) - IEET:
(B) JNNEA-ICFIT:
{C) ITHT-FETEN:
(D) s =
‘g srdl T oEmEa-
(A) '
(B) WEm:
(C) &%
(D) 3T
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70.

F i ¥

T2,

£3.

T grE v iy g g

(A) UE-TETTER
(B) ofi-urwny

(C) & IgARE@
(D) wpwEn iy Fe

CYBRIGL]
(B) Ergr=ien
(C) ==
(D) foeiaen

T AR FENY] W E-
(A) e
(8) 7
(C) wo:
(D) 3t

i sie oo ke
(A)  wem-faufs:
(B) faeitan-fimfes:
(cy qeirar-favks:
(D) usEr-favfs:

"9 wsRE-
(A) ¥ga
(B) 3w
(C) wdfaga
() faga

‘e peteT 0f whafiues gav-

(M) weTi 9] Ef

(B) TS

() ER=

(D) T: TG ¥
Frefefas s & wo=tr
S, I, e, oo, fe
(A) Tt

(B) wEmuaT

(c) fronfagmomts

(D) TR
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77

78.
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XIX-2
WA Seafi 92 WARESRE-

(A) -

(B) AT

(C) egdf-megzm:

(D) - TregR:

it g gt e s
(A) G
(B} i

(cy w=fim:

(o)

| FEwE SO WA g
(a) @ B

(8) & sfoem

(C) & &

(D) T R

‘HiggrEw durimad 6 W
(A) =i

(&) =R

(cy wmaf:

(D) #i:

wetr 2f o nel-rem v s
(A) ¥E + T + &Y

(B} T + B, HFS

(C) % + 219, FFH

(D) s T

(A) WERT
(B) O
() feroersn
(D) §Ea
9 wEnha-
(A} WiE: WAUT: FTHETHSY
(B) UM WA FTHERIE
(C) Wie: WHUTT PTHETIE
(D) W WHU] EHETHEY
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‘(b) @A

(a) wgER 1

2
(c) wHred 3,
(d) T9g 4,
FC:(a) (b) (c) (d)
(A) 4
(B) 4
(C) 4
(D) 3

B ) = =k

(A) STETEOGT

(B) Tiem

(€) Fravg;

(D) ARG

‘Tt gl e weaamRa
{A) B %

= {B) ./

() #H
(D) s =

(A) SHge EPIT] Weda:
(B) TS

(C) TEcaweTH

(D) g wen s Fem

fege oof: aife-
(A) B
B 7
(C) q
D) 1
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(D) zeamds: g4: g=: sqqaﬁ-m
WaTTH

“wrr-Fit T s s i

WRIFIYT = G0 a9 ) Savadar]HR

it fafine ge=-syewmn: smEvEma

o FEAte-

(A) WRTETE

(8) T T Mo

(C) FaRE e

(D) TR
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Mathematics and Science
91. 4 #w wad vl den B s, 8, 10 i1,
FRIST v W oS aen 2 9y
@l ¢, 98 8-
(A) 1082 (B) 1080
(C) 1078 (D) 1198
92. (623)" ¥ 53 v & SEA # - e
(A) 3 (B) 9
() 1 (D) 7
93, UH e @ 7@ 899 ¥ v fear I £ 93,
9 919 63 5 &1 O I e A 20 ®
T e Fen &, 7 9w 2 -
(A) 3 (B) 5
) 7 0y 9
94. UK x% = y+z, yi=z+x, 22 = X+y TH 94,
1 .
X+1 v+l z+1 m A -
(A) -1 (B} 1
(c) 2 (o) -2
95, ﬁ'@*ﬁmmt- as,
V18
V38
(A) 6 (B) £
4
(C} ] o)y 2
SET-A [33]

XIX-2

The least number of 4 digits which when
divided by 5, 8, 10 and 15 leavas 2 as

remainder in each case, Is -
(A) 1082 (B} 1080
(C) 1078 (D} 1158

The number in the unit place in (623)%
is -

{A) 3 (B) 9

C) 1 Gy 7

A number when divided by 899 gives a
remainder 63. If the same number is
divided by 29 then the remainder will

be -
(Ay 3 (B) 5
e (D) 9

If x* = y+z, y'=z+x, * = x+y then the

1 P
value of }:+1+v+1+z+1 s
(A) -1 (B} 1
{€) 2 (o) -2
-.f'_ﬂ-vr?_'i-+ 50
i - - is equal to —
418
(A) 6 (B) @
3
4
ey = () 2
PI'TIU‘




9. R P:Q=3:4Q:R=28:10,
R:5=15:17MP:Q:R:S5%-
(A) 9:15:12:17
By 9:12:17:15
(C) 9:12:15:17

) 15:17:12: %9

97. ﬁ?:lﬁﬂﬂﬁm%:i:%ﬁﬂﬂ
S &, a4 are Ay oA @ -

(A) 240 (B) 480

(C) 720 (D) 960

98. U N TS B A PO & aATEE B
(A) 3607 (B) 450°

(C) 540 {0) s830°

99, TH & weEMEl o e walif B s 6
e # -
(A) 24 (B) 18

C) 12 (D) 6

100, U3 SFI 0F 10% ANE S e A2 ad &
FURY B TEgie e o T ¢ 15 8
= AR -

(A} 1200 (B) 1500
(C) 1BOO (D) 2000
SET-A

26.

97.

99,

100. The difference between simple interest

XIX -
fFP:Q=3:4Q:R=28:10
R:S=15:17thenP: Q:R:Sis-
(A} 9:15:12:17
(B) 9:12:17:15
My 9:12:15:17

(D) 15:17:12:9

If ¥ 2160 is divided In the ratio

Ty .
3'2'8 then the wvalue of middle

share is -
(A) 240 (B) 480
(C) 720 (D) 960

The sum of interior angles of a regular
pentagon is-
(A) 360"
(C) 540"

(B} 450°
(D) 6307

The number of lines of symmetry for a

regular hexagon is -
(A) 24 (6) 18
(C) 12 (D) 6

and compound interest on a sum of
money for 2 years at the rate of 10%
per annum is ¥ 15. The sum of the
money is -

(A) 1200 (B) 1500
{C) 1BOO (D) 2000



101. 12 cm Y& a@ & w4 B Hoe § Ry @
T fremee S e 21 gW mER &
T W gy Eee # -

(A) 1660 cm?
(B) 1640 cm?
(C) 1460 cm?

(D) 1440 cm?

102. 10xy, 12yz 3T 15zx & L.C.M. 27 -
(A} 30xyz (B) 60xyz

(C) 60 xy (D) 60vyz

103. P e d s ag & -

60°
110°
X
(a) 50 (8) &0°
(C) 7o (D} 110°

104, A 12 sedt o= wm & 20 fT F =
W &, 15 3l 3 & @ e e o

& -

(A) 1B (B) 16

{C) 15 (D} 12
SET-A

XIX-2

101. Two cubes each 12 cm edge are joined

together end to end. The surface area
of the resulting cuboid is -

(A) 1660 cm?

(B) 1640 cm?

{C} 1460 cm?

(D) 1440 cm?

102. The L.C.M. of 10xy, 12yz and 15zx will

ba -
(A) 30xyz (B) B0xyz
(C) 60xy (D) 60 yz

103. Inthe following figure the value of x is —

Eﬂn
110°
X
(a) so¢ {E-il 60"
{C} 70° (D) 110Q°

104. If 12 men can do a work in 20 days, In

how many days will the work be done

by 15 men-
(A} 18 (B) 16
(cy 15 (D) 12

P.T.O.




121.

122.

123,

124,

125.

P & o a9 o S e @ mem o2
#

(A) W

(8) uRwemnl @& Fmior

(C) IFAITE T FAFE

(D) Wen @ gEEE

o o) 1 IR &
(i) €O, (i) Fewamy
(A) aw (1)

(1Y N3

(B) & (i)

(c) am (i)
(D) (i) e (i) S

amg ver! # digE A # S 5 8
Forer <omer &1 W g &

(a) wifgmw adEEET

(B) S aFe vd Siee T

(C) wfesow w@E

(D) T HEHT

Frafefias § % 2 @ igftem o 30
8 #-

(A) e 3

(B) tfips wim

© fgh
(D) HRIA |

v o & o wgl TmeR FE A R
ai= @ Feon v # o &2
(A) Bl

(B) 3ioEs 0d HEA AR
(C) ediza vd T ST
(D) el ve Eftaw

SET-A
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122,

123,

124,

125,

XIX-2
The first step of a scientific method is-
(A)
(B)
(C)
(D)

Experimentation

Working out a hypothesis
Inference & Generalization
Identifying a Problem

On being burnt, wood produces-

(i) COz (i) Water vapour  (iii) N3
(A) Only (i)

(B} Only (i)

{C) Only (iii)

(D) Both (i) & (i)

Which chemical is used to test protein
present in food material-

{A) Sodium bicarbonate

{By Copper Sulphate and Caustic Soda
{C) Sodium Carbonate

(D) <Copper Sulphate

Which one of the following is not a
product of Petroleum—

(A) CNG

(B} Paraffin wax

(C) Bitumen

(D)

Kerosene Oil

which of the following gaseous
mixtures is carried by deep-sea divers
for respiration?

(A) AIr

{B) Oxygen & Carbonmonoxide

{C) Oxygen & Carbondioxide

(D) Oxygen & Helium




145,

146.

147,

Tady o YEpt B ey § B 4

FEe THUA W aa B

(a) Tt fig w gadi d ot famm 2@
it # formr 3t Fish gaeie Rasaeh
&1 I LF W < el

(B) TR i TE 4o 3 @ B 2|

(c) oft gawa &= Y@ HAR 9w

g §, & ¥ T d dEe @

forefim w21

HEra &7 @ e vEET g

Yt o Fresean & @ awr ool

T #1
ver famr fovers @0 sioe men o fafier
weER ¥ g ®1 Reaen 2 ga R o
fmr & o e I e 2 -
(A) == fafi
(B) HraieA gcsm fEf
(C) wemmamen faf
(D) weul faftr

(&)

o fae fes ol @ Sa fafaemr faeo
® Ryaer e &1 Feon & e s
TS, I FOET e -

(a) o g & A

(8) T R

(C) ©FET @ g & U & AR, T
frat afagi #lw sat w R
tam @

H T B GR UG B Ge &,
wiife ge vs dafas smomon &

(0}

SET-A
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145.

146.

147.

(€]

XIX-2

Choose the Incorrect statement from

the following regarding magnetic lines

of field -

(A) The direction of magnetic field at
a point Is taken to be the
direction in which the north pole
of a magnetic compass needle
points.

{B} Magnetic field lines are closed

CUrves,

If magnetic field lines are parallel

and equidistant, they represent

zero field strength.

Relative strength of magnetic field

is shown by the degree of

closeness of the field lines.

(C)

8)

A science teacher has to teach
different types of force in his class. The
maost suitable method to teach this
topic Is -

(A} Lecture method

(B) Evaluation Approach method

{C) Laboratory method

(D) Demonstration method

A science teacher wants to teach a
topic Biodiversity to the students. The
best way of teaching, she should
adopt:

{A) Teach from text book.

(B) Teach by showing pictures.
Taking students to nearby park,
take photograph and prepare
report on flora and fauna observed.
Suggest to read by thelr own, as
it is a theoretical concept.

(D)




e seaa XIX-2
Social Studies
91. WRAr WU ® HEEE 51 ' wErE 91, Article 51 ‘A’ of Indian Constitution is
(.2 related to-
(a) wiftes st | (#) Fundamental Rights
(B) it o= @ (B) Fundamental Dutles
(C) Imgur & (C) President
(D) WEMTET | (D} Prime Minister
92, T Fribear & it @ wred ol A g2. The Indian foreign policy of ‘Non-
i = ¥ e g s - Aligrment’ was initiated by :
(A) Aol SR mieh (A) Mrs. Indira Gandhi
(B) TR T o (B) Jawaharial Nehru
(C) HRR 3w (C) Morarji Desai
(D) T FEIGT AE (D) Lal Bahadur Shastri
93, Wt d@ReF & fea sek @K 5T 93. which one of the following Articles of
T @y a3 o w 'QI-‘! the Constitution of India directs States
Governments to organise village
Frifim o o 27
Panchayats?
() maz {A) Article 32
(B) Frea 40 (B) Article 40
(C) argasa 48 (C) Article 48
(D} FFgese 51 (D) Article 51
94, WU © FTAR T wEeiE B = 94. According to the constitution the
e e e & o Upper House of the State Legislature
is created or abolished on the
m recommendation of :
(A) TFEEE R (A) The Chief Minister
(B) wimiee g (B) The Council of Ministers
(C) I=auw BRI (C)} The Governor
(D) FreremnT ZRY (D) The Legislative Assembly
SET-A [48]




116.

117.

118.

119,

120.

WeaEr Ramsi & IRE e o e ot
2T Far 617

(A) FTH T 30%

(B) 3941 & 40%

(C) 375 B 50%

(D) I B 60%

Prestifase 3 fivers et o e wiefera
f

(A)

(B) e

(C) mwEa

(D) TeeE

Fr=ifen o & fem ot & s sifderet o
s Am @ 3R W @ gen wela
o
(A) weEadl
(8) Ffecamam
(C) R

(D) fern geaET

Freifea # @ o o9 = & B a9
s s Wy i
(A) FHEER

(B) HF=IX
(C) w¥aAm
(D) @R

Prrifise A 91 @7 1857 & fde 9 Sdite
I W AT @ e &

(A) =TEE TER
(8) TmEw TEd

(C) Rrepg e
(D) FATEFT TER

SET-A
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116.

117.

118.

115,

120.

XIX-2
What was the rate of 'Kharaj' during
the reign of Alauddin Khalji?
(A) 30% of the produce
(B) 40% of the produce
(C) 50% of the produce
(D) 6&0% of the produce

Which of the following is associated
with the Inscription of Uttaramerur:
{A) Chera

(B) Chola

(C) Pandya

(D) Pallava

Which of the following Queen changed
her name on her Inscriptions and
pretended she was a man:

(A) Rudramadevi

(B} Ahilyabai

(C) Ramabai

(D) Razia Sultana

Which of the following is the person
who started "Virashalva movement':

(A)
(B}
{C)
(D)

Mamrmalvar
Sundarar

Basavanna
Appar

Which of the following is the writer of
the book 'Majha Pravaas' written about
the revolt of 1857:

{A) Nathuram Godse

(B} Shivadatt Godse

(C) Vishnubhatt Godse

(D) Umakant Godse
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According to area, which one of the

following Is largest National Park in
Uttarakhand State?

(A} Rajaji National Park

(B) Gangotri National Park

(C) MNandadevi National Park

(D} Govind National Park

Which one of the following statements
is not an argument in favour of
multi-purpose river project :

(A} Multi-purpose projects by
regulating water flow helps to
control floods,

(B) Multi-purpose projects brings
water to those areas which
suffer from water scarcity.

(C) Multi-purpose projects leads to
large scale displacements.

(D) Multi-purpose projects generate
electricity.

Which one of the following state of
India has international boundary on its
three sides?

(A) Tripura

(B} Assam

{C} Nagaland

(D) Bihar

In which part of Himalayas do we find
Karewa formation?

(A) Sikkim Himalayas

(B) Arunachal Himalayas

(C) Himanchal Himalayas

(D} Kashmir Himalaya
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XIX-2
'Project Elephant' have been launched
in India to Conserve Elephants and their
habitat-
(A) 1973
(B) 1992
(C) 1972
(D) 1976

which one of the following statements
Is not true in the reference of
Trans-Siberian Railway-

{A) It is the longest double-tracked
and electrified trans-continental
railway in the world.

It runs from Vladivostok to
St. Petersburg.

It has helped in opening up its
Aslan region to West European
markets.

Vancouver is an important city In

(B

(C)

()

this railway

Which one of the following South
American nation, is a member of OPEC?
{A) Chile

(B) Brazil

(C) Venezuela

(D) Peru

Which one of the following scholars
coined the term 'Geography'?

{A) Aristotle

(B) Galileo

(C) Eratosthenes

(D} Herodotus
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XIX-2

The position of the earth is nearest to
the sun is called Perihelion. This
position on-

(A} 3 January

(B) 4 July

(C) 21 June

(D) 23 September

In the following which is not a Cold
Ocean current-

(A) Canaries Current

(B} Kuroshio Current

{(C) Labrador Current

(D) Ovyashio Current

The following tributaries of river Ganga
is the correct order from east to west:
(1) Ghaghara

(2) Gandak
(3) Kosi

(4) Gornti
(A) 1
(8) 4
(C) 3
(0} 3

B RS L Pd
4 = g W
e

Atomic Energy Commission
established in India in :

(A) 1948

(B} 1554

(C) 1971

(D) 1950

Which of the following is not the base
of curriculum construction of social
studies?

(A) Psycholcgical Base

(B} Philosophical Base

(C) Soclological Base

(D) Religious Base

Was
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126. The local time of a place is 6:00 a.m.

127.

128.

129,

When the Greenwitch Mean Time {GMT)
of that place is 3:00 a.m. What is the
longitude of that place?

(A) 45% East

(B)
(C) 120° East
(D) 120" West

450 West

Which one of the following Indian river
form an Esturies?

(A) Kaver

{BY Godavari

(C) Mahanadi

(D) Tapi

Which one of the following mountain
peak is not situated in India?

(A)  Anaimudi

(B} Nanda Devi

(C)
(D) Annpuma

Kamek

Which of the following is not correctly
matched?

Steel Plant - Collaborating Country
(A) Bhilai - Soviet Union

(B) Durgapur- Britain (United Kingdom)
(C) Rourkela- Germany

(D) Bokaro - Japan




Direction (65 to 68) : Read the passage
given below and answer the questions that
follow by selecting the most appropriate
option :

Online soclal networking via mobile
phones and computers is a global revolution.
Around a billion people worldwide use
netwarking to stay in touch with friends, to
share videos and photographs and to
exchange information. But, if you are using
networking in this way, you should be aware
of the risks that exist.

Soclal networking is such that most of
the extensive numbers of users are unknown
to you. This carries a degree of risks. Once
a message, video or photo has been shared
online, it Is out of your hands because you
can't control where it goes. This means that
sharing your personal
information with people you do not know and
who may not be trustworthy.

you may be

Some vital points to consider in order
to reduce risks, when using social networking
include keeping personal details private;
thinking carefully before posting, chatting,
uploading or downlcading and using privacy
settings to restrict strangers accessing your
information.

65. The main idea in paragraph three is that
thiere are :
{A) several good reasons to avoid
soclial networking.
(B) strangers who spy on the users
of soclal networks.
(C) severaltimes when you should use
social notworking.
(D) ways toe control the sharing of
personal information,
SET-A
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66.

67,

70,

XIX-2
The text refers to "the extensive
numbers of users" in order to :
{A) persuade readers to join In.

(B) indicate social networking is
worldwide.
{C} show there are lots of opportunities

to make friends.
suggest that large numbers
increase the chance of danger.

(L)

Social networking is called ‘revelution’
because it :

{A) Is a slgnificant change
(B) Isa political movement
(C) revolves around the globe

(D) causes conflict across society
Which of these sayings summarises the
message within this passage?

{A) Freedom of speech is the noblest
right
(B) Privacy is for people with

something to hide

Peaple should use social netwarking

with caution

If you haven't got anything nice

to say, don't say anything

Lexicologist means :

{A) One who writes essays

(B} One who composes poems

{C) One who studies the form, meaning
and behaviour of words

(D} One who writes literary articles

We visited .

{A) Canada and United States

(B) the Canada and the United States

(C) Canada and the United States

(D} the Canada and United States

(C)

(D)

P.T.O.
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76.

Iwish I a car. It would make
life so much easier.

(A} have

(B) had

(C) would have

(D) will have

This famous gquotable line "They also
serve who only stand and wait" has
been taken from :

(A) Shakespeare's Macbeth

(B} Spencer's Fairy Queen

(C) Milton's On His Blindness

(D) Marlow's Dr. Faustus

'Let not ambition mock their useful tail’
has a figure of speech :

(A} Oxymoron

(B) Metaphor

(C) Transferred Epithet

(D) Personification

A reacher of English should begin to
teach English to small kids with :

(A) Polysyllabic words

(B) Monosyllabic words
(C) Bisyllabic words
(D} Compound words

A 'sadist’ is one :

(A) whoremains sad most of the time

(B) who makes horse saddles

(C) who gets pleasure from hurting
others

(D} who wanders from place to place
in search of food

Which one is not the component of

language?

(A) Sounds

(B) Words

(C) Structures

(D) Literature

SET-A
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XIX-2
It was her 'own’' idea. In this sentence
‘owin’ s :
(A} Passessive pronoun
(B} Emphasizing Adjective
(C) Demonstrative Adjective
(D) Relative Pronoun
Choose the sentence with correct
preposition in the following :
(A)Y An Irish gifl married to an American

scientist.

(B) An Irish girl married with an
American scientist.

fC) An Irish gil married for an
American scientist,

(D) An Irish girl married
American Scientist.
"Ramesh often likes to blow his own

trumpet.” It implies that :

{A) Ramesh likes to praise his own
abilities and achievements.

{8) Ramesh blows his trumpet on
winning.

(C) Ramesh blows his nose.

(D) Ramesh is ecstatic when the wind
blows.

"Spelling is caught rather than taught”

who sald this statement?

{A) Bhatia and Bhatia

(B} W.S. Tomkinsen

{C} Dr. Witherspoon

(D} Prof. Emest Weakly

Identify the figure of speech in the

following stanza :

“Water, water, everywhere,

And all the boards did shrink,

Water, water, everywhere,

MNor any drop to drink®

(A) Metaphor

(B] Simile

(C) Personification

(D) Irony

by an



